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8.1

9-28. Determine whether the sequence converges or diverges. If it converges, find the limit.
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34. a, = 3 j Determine whether the sequence is increasing, decreasing, or not monotonic. Is
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the sequence bounded?
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39. Use induction to show that the sequence defined by a, =1, a,, :B—ai is increasing and
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a, <3 forall n. Deduce that {a,} is convergent and find its limit.
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8.2

3-8. Determine whether the geometric series is convergent or divergent. If it is convergent, find its
sum.

3. 5—E+§—ﬂ+
3 9 27
Y o e A4 P S 2 s A 5
BPLREBE VR pALS Mtr=—— > Biojzar S= =3
3 2
1-(-3)

v e L1 Vs )
tbg\?@‘ﬁ;ﬁw‘?&,@;, —ﬁ;réfg A r:§>1 > ,}‘_!fr»;}\iﬁa:o

9-18. Determine whether the geometric series is convergent or divergent. If it is convergent, find its
sum.
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19-22. Determine whether the geometric series is convergent or divergent by expressing s, as a
telescoping sum. If it is convergent, find its sum.
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25. 3.417 . Express the number as a ratio of integers.

S =3.417 =1000S =3417.417

3414 1138

— (1000-1)S =3417-3= S ===
999 333

27. Z;—n Find the value of x for which the series converges. Find the sum of the series for those
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31. If the nth partial sum of a series ) a, s sn:n—_i find a, and > a, .
n=1 n+ n=1

_nh-1 n-2_ 2
o n+1 n n(n+1)

w
>
e
W
hR:d

v



Mg~ v ¥ f2 ¢ Chapter 8 Series 8.1-8.3

> n-1
a,=lims =lim——=1
=1

N n n—o n—>on+1

35. What is the value of ¢ if ) (1+¢)" =2
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8.3
1. Draw a picture to show that Z% <j —5 dx. What can you conclude about the series?
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5. It is important to distinguish between an and Zb” . What name is given to the first series?
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To the second? For what values of b does the first series converge? For what values of b does the

second series converge?
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9. Use the Comparison Test to determine whether the series is convergent or divergent.
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11-26. Determine whether the series is convergent or divergent.
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27. z a L - Find the values of p for which the series is convergent.
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